1. The lining of a capillary is called the 
A. endothelium.
B. adventitia.
C. pericapillary layer.
D. thoroughfare layer.
E. tunica.
2. Continuous capillaries 
A. have many thin areas called fenestrae.
B. are freely permeable to large molecules such as hormones.
C. have a wall where the endothelial cells fit very tightly together.
D. are more permeable then fenestrated capillaries but not as permeable as sinusoidal capillaries.
E. are characterized by continuous pores.
3. Which statement is CORRECT? 
A. For an artery and vein of the same diameter, the vein would have a thicker wall.
B. Veins contain valves and arteries do not.
C. Blood pressure is lower in arteries than in veins.
D. When empty, an artery is more likely to be collapsed (flattened) than a vein.
E. Both B & D.

4. Which of the following statements concerning blood vessel walls is true? 
A. The tunica intima is the innermost layer of a blood vessel wall.
B. The tunica media is found in all blood vessels except veins.
C. The tunica adventitia is composed of smooth muscle and endothelium.
D. Capillaries have both a tunica intima and a tunica media.
E. Vessel diameter is controlled primarily by the tunica intima.

5. Which of the following factors assists in the return of venous blood to the heart? 
(1) arterial dilation
(2) valves in the veins
(3) sympathetic stimulation
(4) compression of veins by muscular movements 
A. 1 and 2
B. 1, 2, 3
C. 1, 2, 3, 4
D. 2, 3, 4
E. 1, 3, 4

6. Which of the following events would cause a decrease in mean arterial blood pressure? 
A. an increase in ADH production
B. release of atrial natriuretic factor
C. constriction of blood vessels in the skin
D. activation of the renin-angiotensin mechanism
E. an increase in aldosterone production

7. Increased pressure in the aortic arch will activate the aortic arch reflex and cause 
A. a decrease in the frequency of action potentials from the aortic baroreceptors.
B. increased parasympathetic stimulation of the heart.
C. vasoconstriction of peripheral vessels increasing the blood pressure.
D. increased ADH secretion.
E. increased sympathetic stimulation of the heart.

ANSWERS:

1.  A
2.  C
3.  B
4.  A
5.  D
6.  B
7.  B
